FoMax+122x+ 52 7k x> 294 W), AJ= a o] gh27



2.

A<B<CE9 ZAE &1 &2

@

@

A<B
A<C
B<A
B<C

@
®

A<B
B<C
A<B
C<B

A

29

A<C
B<C



3.

& AYREAL WIS B4 A% 10 AL W, 4 a o

2k Faofet,
Tx+4>5x
15—-x>a

@ 3,4 @ 5,6 ® 6 @ 6,7 ® 4,5,6



4. oW 5= 3w oba 8 v 32 Wk A, o] S04 55 w7 6
Wl 517 24 BTk ATk Gt olw 40 M9lE £& AL

37 4
®8<x<§ ®8<x<§O @9<x<%7

4
@9<x<?0 @9<x<43—3



oA lx =2+ |x + 3] 2 —2x + 9] SH=7

®

D x=>2 -3<x<?2 @ 1<x<2

@ x<2 ® a7t At



[1 7]

o
N,

=71
@ a>b, c>do|Ha+c>b+do|th

© a>b°lH a? > b? ol

© a>b>00]@1>10]9r.
b a

ORQ) ® 09,0 ® 9,6
ONGNG) ® 06,6



ol
N

7t a < x < boltt. oluf, a, b2

9:{

5-2x<9

telzt.

S

747 7

.

Ul [}

2 @



S

[e] =
2 T

0.7x-12<0.5x+0.4

@ 6 @7 @ 8 ® 9

O]



x>1
@
x>4
X<
@
x>3

x< -1
@

x> -5

x<7
®

x> -3

x>4

x< -4



10.

Al
=

re
o
-
ol

0%
(*]
rlr

B}

@D a>2

@ a<5h

10 - 2x > 3x

x—a>-3

@ a<?2

® 2<a<h

=8 ot 4% a o] 2

® a=5



11, OJARE4 #* ~6x+9 2 09 35 511?

® a7k ik @ x=3
® x#30 REAZS @ -3<x<3



12.



13.

oldi7ta<x<bd W, ab®] 3



14. or&3 22 YAAEY 2o AAE TeEs

, Al22] Aozt
7tz 9] Zoje] 3 Hj B} 7 em T ZA otal, Ed¢] Zo]E 120cm
Z3} 150cm ©]ol= FHEE 1 & o], 7l2 9] Aoyt E £ gl

@ 13ecm @ l4cm

@ 15cm

@ 16ecm @& 17cm



Shurao] 47 dod 1270 7F g AL, 677 A4
ot A AR Al 2



16. xof B3t o) SA] gx? — 2ax — 3a > bx? — 2bx — 3b ] Hj5to] th&

@O a<bd o, -1 <x<30|th
@ a<bd o, x<-1, x< 30|t
® a<0¥ o, -1<x<30|t}
@ b<0¥d o, x<-1, x> 30|t}

[e] 2~
® a>bdHf, B34S E A x

of tisto]

3

o

ot

i

o,



17. #5432 -3 x|~ 4> 02 & FoHw?

D x<-4EE=x>4 @ x<-1E=x>14
@ x<1EE=x>-4 @ -1<x<4

® -1<x<3



18.

x o Rt OIAEEA 2 +ax+b>0 A7t x< 1 EEx>4 L 0

4% at b 9 gHe Fatolet.

Be



@ 2 @ 3 @ 4 ® 6

1



20.

o2 "3 Zo] g¥E AR ot
OA =a, OC = a+ 5 ¢l 2AZ+E OABC
7} Qltk. AFzHE OABC WH9] AxpAE o] 4=
7} 50 7] olst7t H =g & uf, a O] HHZ2?
(2, a>00]2, AL x 3oty J87}
L5 421 Hojot)

®5 @6 O7T @8 @9

Y
// !
| |
| |
|
a+b I
‘\ eeoe :
\|eoee 1
Meoeoeoo |
O ~~-q--"A ¢



21.

{y:ax2+bx+c o] S

y=mx+n
x:—4,y:49]'x:1,y:0
ojtt.

@ F5A ax® +bx+c209] d=
x<-3EEx>10]t},

@ F54 ax®> +bx+c<mx+n9
3= -4 < x < 10]th,

@ olARt y = ax? + bx + c oA
a=1o]|t},

"e]“}?:‘fyzmern of| A1
m:—go]‘l}.

D 174 @ 27 @ 37

@ 4 7Y

® 574



2 40| AMnrt o

D m< -2,
® m< -2,

® m < -5,

o

@ m<-1, m>=

2
@m<2, m>§

;1o EABHES m o WIS A5t

2
3



23. dFYo|xEREA] {X2—5x§ 0
(x+1)(x—a)>0

o &7t2 < x <50 HE=



24.

x ol 7 o] 2AHY 7

A5 o

Fotofet.

&
45

A x? —ax+9=00°] x < 194 F 7o) A&

a® Y915 #5t¥ a < kolt}h. o] W, k9 S

ag:k:



25. 1<x<3 ol x o Bhek o XA 2 —ax+4 =0 0] HZ THE 5
A e S She A% a o 2o Wt a <a < 2D U, 308 O

2 Fatole

5 L
=%



